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@ x2+3xy-2y2 = (2x+y) (x - 2y)

@ x(y-1-y+1=(-1)(x-1)

@ ¥ —dx=1x(x-2)°

@ x2-y?-2x+2y=(x+y) (x—y-2)

® 2x+1)°-(x-2%*=0Bx-1)(x+1)



2. -4 & A5

@ (a-2b)° @ (a+ 2b) (a-2b)
® (a+b)(a-4b) @ (a+2)(b-2)
® (a+2b)?



& A 1562 + 11x - 12 2 A5EelohH?

@ (bx-3)(3x+4) @ (5x-3)(3x-4)
® 3(5x—4)(x+1) @ (5x-12)(3x+1)

® (Bx+12)(3x-1)
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@ xy(2x-1) @ 4x ® 4y
@ x(2x-1) ® y(2x+1)
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@ Vo= FEFolth

@ 3.14 = F4oltt.
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VIEx V2D = V3 9 1, a
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@ V14 = \2
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@D 1.732 @ 3.464 3 5.196 @ 17.32 3B 34.64
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12. 992-1=100x98 ¥ Agst=d] 7P Ldake ol~E35|

o

@® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+ b* = (a-b)?
® a®>-b*>=(a+b)(a-Db)
@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)



13. {x|300 < x <600, x= ﬂ#} of thte] V3 x vx 7F Q] A7t H=
& oh= A x 9 WFE AokH?

@ 574 @ 5270 ® 1007
@ 10170 ® 301 7



